December 2 Math 2306 sec. 51 Fall 2024

Review of Everything

Solve the initial value problem tz}; 3y =tIn(t), y(1)=2.
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Find the general solution. Reduction of
order to finish

outy ., then
.0.p. to find
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(Hint: y; = x solves the homogeneous equation.)
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Find the function 'f that satisfies the equation

t
()= [ o=y 1.

Lx 2ty T

k
(Fxs) (4) = X ﬁ(‘c\@(k-t)ét

o

g kY= &

W
y[(ﬁfxfﬂ(y\j‘— Yy GG) Gy = —=—

S
Llew)- 2 [ Ern@ « \)
sy = VU_)<\’\S'_:S+ —\S_
o

Fisy = ’\S—" Fis\+ S



Fo(1- ) - ¥

g\ \ 1
(525 - % o Fe- b (2
S \s"=1

S

FCS = > = _—
\) Si-\ (}-\\Cfﬁ'\\)
= . A 8
(s—y(ser) 5oy Y osey ™ S= /\(S-E\)-\—"\?(J—l)
5=\ \= A . A=
s--| -\= -G w:+
L
Y ()= = A—z___
s-\ s+ \

Sw- P (em)






Solve the initial value problem
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